@ (1)12,(2)10v/3 @ (1)12,(2)12V3 ® (1)14,(2)8v3
@ (1)14,(2)9v3 ® (1)14,(2)5v3



T A A, C Atelo] AE gotrr] 9| A
o 222 a3} go| ZHasch % A

A, C Arole] AglE Fstoiat,




the oA A G7F AABC O] BAZAA uf, B
AAGC 9] Yol& otofzt,




4.

ttS A ABCD o)A A

AB = 10cm, BC = 6\/5(:m, D \
BD = 12/3m? ), |
10

OJABCD 9] Ho]&=? )
7S )

- - 120° </

® 16+/70 @ 1870 < -

C gy B

@ 2070 @ 2170
® 2470



=AM 9] Yol & HiE A 9t A2 DA
6\/3_
120773
@ 80 @ 81 3 82 C =>p

@ 83 ® 84




N2ty ABCOlA]l ZA = 55°,

BC=5% o, 71 & AB 9] dol& YelfiE=
A& otk
55°
A
H7]
@ 5sin55° © 5cos55° © 5tanb5°
5 5
sin 55 °

tan 55 °




22 /B:/C=1:3% BFPApAFo|}, A b
AABO 9] {0l & oozt




g TR 2L HZ7d ABC o4 AC © ol Fepu? (g,
tan 78° = 4.7046 )

B

ﬂjio
/
A /

C

@® 45.234 @ 46.198 ® 47.046 @ 48.301 ® 49.293



e

30°
45°

A~-50m-"B

@ 50 (tan30° + tan 45°) m

@® 50 (sin30° + sin45°) m

@ 50 (sin30° 4+ tan45°) m

® 50 (cos30° + cos45°) m

® 50 (cos30° + tan45°) m



10. AW £H0= A | 4RI ohg a-T p
2ol Bejzrh. olwl, eA7] Ao o] %
ol Tfelat.
30°

B~ g/3--—-C



